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Question 1. (5 marks) _
Using limits, find the slope of the tangent to the curve f(x) = v/x — 1 at the point
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Question 2. (5 marks)
Using limits, find the derivative of f(x) =x* — 3x.
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Question 3. (5 marks)
Determine if the function g(x) is continuous at x = 2. Justify your answer using

‘the conditions necessary for continuity and proper notation.
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Question 4. (5 mariks) AT X=2 _
_ VAFT

Determine for which values of x the function f(x) = ¥=5- is not continuous.
Justify your answer using the conditions necessary for continuity and proper no-

tation.
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